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QUESTIONNAIRE ON THE INSURANCE SYSTEM

1.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

Can an employee of this insurance company at the client’s request cancel an insurance policy? 

a. Yes. 

b. Only if the client in question has paid for the policy. 

c. No. 

d. None of the above, since the conditions are not shown in these diagrams. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





2.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

A client has an insurance policy on his car, a Seat Ibiza 1400, with this insurance company. After a grave accident, the car is written off. Therefore, the client decides to buy another car and ensure it with the same company on the same conditions. How is this operation done in this system? 

a. The insurance company respects not only the conditions, but also the number of the policy, remembering to update the data related to the new vehicle.

b. It being another car, the insurance company creates a new policy.

c. The company modifies the necessary data in the budget corresponding to the current policy and, once signed, these changes are also made in this policy.

d. None of the above. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





3.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

When invoicing, the employee asks the insurance system to print the bills to be paid. How many will be emitted per policy? 

a. All bills up to the current month. 

b. All bills for the current month. 

c. At the most one bill up to the current month. 

d. At the most one bill for the current month. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





4.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

After expiring the payment date, in this insurance company a policy may be cancelled because of: 

a. a policy with too many accidents. 

b. a non-reactivated policy. 

c. a non-claimed policy.

d. an active policy.

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





5.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

The modification of the state of a budget implies that: 

a. The state of the corresponding policy changes as well. 

b. The state of this policy does not change. 

c. The policy is modified or not, according to the date from which it remains in a certain state. 

d. None of the above, since the state of a budget cannot be updated. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





6.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

Supposing (that) the employee requests to display on the screen a list of unpaid bills, which of the following actions is correct? 

a. Having expired the second payment date, the claim is confirmed for each of them. 

b. After the first payment date, the claim is only confirmed for those bills considered urgent. 

c. Once the claim is made and the second payment date has expired, the policy (referring to unpaid bill) may be cancelled. 

d. None of the above. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





7.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

Does this insurance company consider the possibility of making policies through the Internet or using a mobile phone? 

a. No, since it is necessary for the client to sign the policy in order for it to be registered. 

b. Yes, as long as the documents related to the policy are sent to the client. 

c. Only using a mobile phone, since the client can confirm the budget orally. 

d. Only through the Internet, as in this case the employee can communicate with the client through his e-mail and the client in turn can send his written agreement. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





8.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

One of the clients of the insurance company has recently moved house. Therefore he sends a fax to the company asking them to make the corresponding changes in his file. In the view of the diagrams, what measures does the employee take? 

a. He simply modifies the address and, if necessary, also the client’s telephone number in the corresponding database. 

b. First the client’s information is erased from the database and then it is created with the update data. 

c. None, since this information cannot be modified. 

d. None, since this situation is not specified. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





9.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

Under what conditions does a policy enter the state of suspended? 

a. The employee selects the option of suspending the policy. 

b. It has maintained in a state for more than 60 days. 

c. The bills corresponding to the policy have not been paid. 

d. The conditions expressed in sections b) and c). 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





10.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

Which of the following statements is false?

a. Bills of a cancelled policy cannot be emitted in this insurance system. 

b. A policy of this company always has a budget assigned to it. 

c. A client has a minimum of one policy and one budget.

d. The provisional bill is the one emitted when the first payment of a policy is made. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





1
9

